
Berechne jeweils das Endkapital Lösung

1) Ko = 2900 € K2 = Ko • q • q
Zinssatz = 1,3 % K2 = 2900 • 1,013 • 1,013
Laufzeit = 2 Jahre K2 = 2975,89 €

 
2) Ko = 3200 € K2 = Ko • q • q

Zinssatz = 2,7 % K2 = 3200 • 1,027 • 1,027
Laufzeit = 2 Jahre K2 = 3375,13 €

3) Ko = 1800 € K4 = Ko • q • q • q • q
Zinssatz = 3,5 % K4 = 1800 • 1,035 • 1,035 • 1,035 • 1,035
Laufzeit = 4 Jahre K4 = 2065,54 €

4) Ko = 1200 € K6 = Ko • q^6
Zinssatz = 2,5 % K6 = 1200 • 1,025^6
Laufzeit = 6 Jahre K6 = 1391,63 €

 
5) Ko = 2000 € K6 = Ko • q^6

Zinssatz = 2,1 % K6 = 2000 • 1,021^6
Laufzeit = 6 Jahre K6 = 2265,61 €

6) Ko = 1700 € K2 = Ko • q^2
Zinssatz = 3,1 % K2 = 1700 • 1,031^2
Laufzeit = 2 Jahre K2 = 1807,03 €

7) Sparrate = 140 € K1 = Rate • q = 140 • 1,023 = 143,22 €
Zinssatz = 2,3 % K2 = (K1 + Rate) • q = (143,22 + 140) • 1,023 = 289,73 €
Laufzeit = 2 Jahre

8) Sparrate = 140 € K1 = Rate • q = 140 • 1,027 = 143,78 €
Zinssatz = 2,7 % K2 = (K1 + Rate) • q = (143,78 + 140) • 1,027 = 291,44 €
Laufzeit = 3 Jahre K3 = (K2 + Rate) • q = (291,44 + 140) • 1,027 = 443,09

9) Sparrate = 240 € K1 = Rate • q = 240 • 1,016 = 243,84 €
Zinssatz = 1,6 % K2 = (K1 + Rate) • q = (243,84 + 240) • 1,016 = 491,58 €
Laufzeit = 2 Jahre

 
 

10) Sparrate = 300 € K1 = Rate • q = 300 • 1,029 = 308,7 €
Zinssatz = 2,9 % K2 = (K1 + Rate) • q = (308,7 + 300) • 1,029 = 626,35 €
Laufzeit = 3 Jahre K3 = (K2 + Rate) • q = (626,35 + 300) • 1,029 = 953,21 €

11) Sparrate = 210 € K1 = Rate • q = 210 • 1,03 = 216,3 €
Zinssatz = 3 % K2 = (K1 + Rate) • q = (216,3 + 210) • 1,03 = 439,09 €
Laufzeit = 3 Jahre K3 = (K2 + Rate) • q = (439,09 + 210) • 1,03 = 668,56 €
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